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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION, 
FEBRUARY 2019 

Part- III 
BIOLOGY 

(Part -A Botany and Part - B Zoology) 
Maximum : 60 Scores 

General Instructions to Candidates: 

Time : 2 Hours 
Cool-off Time: 20 Minutes 

• There is a 'Cool off time' of 10 minutes each.for Botany and Zoology in addition 
to the writing time of 1 hour each. Further, there is a '5 minutes' preparatory time' 
for Zoology at the end of the Botany examination. 

• Use the 'Cool off time' to get.familiar with questions and to plan your answers. 

• Read questions carefully before answering. 

• Write answer to the specjfic number of questions as instn1cted. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed in the 
Examiniation Hall. 

nilB j:><nano1ce,oocM~ 6>nJOClS>.!m1i<!<]~6'GBOO : 

• ml&<jln9j's CTUaiwnm n.JJ06)Ql ~6n..lo36Trll~o cru6~ruo~~~o 10 aflml§ n!l®o •~&, sona 6>6>SO' 
~6raocoJlc6lc0060. tfuJSO@CID a6n.Jo36Trll n.Jro1~~aCJbcd:lo '5 m1ml3"' cru6aruo~~ n.J<l>l~if 
®<DJ06)0SJ~tfu&, msmro6cmanlmoco51 mm'Dc&6cm<mo6Tli'. 

• 'c&Jc/l, sona 6)6)S0' a..!l.JOGJom&, n.Jc6l..!l.J<DJ6"><;tjSOm6o ~mrornom&, <m!l>CTUJL®6mo 6)..!l.J~om6o 
~n.J (J <DJOC/5lc006tfu. 

• ~w,mro~&, Clij)'96CID6rmanlm ~mJ C..!l.JOGJ6ll13c/l, ~B.UOn..lJ(b()do ruocoJlc006mo. 

• nm~o nJlsocncomleJc\O mlroagCJt>1cSOO<;H§ omw <J.!l.lOGJ~ mot<m<Jm l<ffl><Oo 
n©'iJCJ<m6Tli<m~. 

• ~ ~~c&cib, .!l.11t®6lll3ci&, lOOOnDAM, ~ ~~dim$ as)6)CTT) l6TliOcmlaSlc:86')QT)o. 

• (B'@)(lJCJt>J~ ffilOeJ<ml CTl)QlOJOcibJOOc/l, 6>dbOSJcB6>6ffio 

• .C..!l.!0<3JOOc/l, meJ<DJOicmSleJl,o mcltbc:e;!ml1§66TTi. 

• Cln.JOl(J)O~db&, 6>.!l.l~:>mOdbO<ffl> cib:>cltbc:86')JC:eJA06dbci& 63'916'>ciba»~ 63(06 t:'QeJC:l~06Tnldb ~cB:,CD 

6IDGJ6o n..1cdlcfh9:lonno~m'D ln..l<B(D)Ocnlc:86')6ruocib n.Josl~. 
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PART-A 
BOTANY 

Maximum: 30 Scores 

Score 
I. Answer all questions from 1 to 3. Each 

question carries 1 score. (3 x l =3) 

1) Observe the figure and identify the 
asexual reproductive structure. 

2) Name the award given by the 
Government oflndia to individuals 
or communities from rural area for 
protecting wild life. 

3) Observe the relationship between 
the first pair and fill up the blank 
using appropriate term. 
Unisexual male flower : Staminate 
Unisexual female flower : ---

II. Question 4 to 14 answer any nine 
questions from the following. Each 
question carries 2 scores. (9x2=18) 

4) Gradual predictable changes in the 
species composition of a given area 
is called ecological succession. 
Differentiate primary and secondary 
succession. 

Time: I Hour 
Cool off Time: 10 Minutes 

Score 
I. 1 m6<marn 3 ru6)ct>Cll>J~ n{i)~ o <JJ2J0<3j 

6lfBcioce616o ~ n{i)\96<m6db. m<Jct>O ~0'3j 

<Umlm6o 1 <3Cll?Oct> rulcmo. (3 x 1 =3) 
1) <m::>6)'-9 cmrmlc6lc&6)6rrn ..!lJlL<mo mlroi~4:1u 

<l3T1) 6) 6) eJ o (/)1 c0:> l n..J cm J6 <mu n..J o G m ne.i s m 
~~<m3c8:>. 

2) rum J ~, ru1 m> o ro dh9::I 611) <ml1 mo w1 
Ln..JOJ ©<ml1c&6)6rrn, L(f)OQl Ln..J(]B006m3~1 

e.13~ OJJ~1cfucroc&6)30 ffi)Q)Jo.D<m>lm30 
~ mn JO (I) OJ 6l1fJ 6) Q) CW Cl@© 6) ~ s6 ~1 mfl 
all c&6) 6 rm <lm)OJ o &ru5 n@rni' ? 

3) ar@Bj6)<ml (]~Osl<Dfle.JdOO n..JB6m3~6)S 

6l1J rrwo mmcpJJ eJ oc9651 o.J136 (] n..JOW n..J Bo 

n..JJ m1 ~ c&6)6 c0:> . 

nfficB:>e.!low ar@611fJ n..J6~6"ffic.ro : ~om1am8' 
nfficB:>ell ow 6)n..J6TTO n..J3~6mc.ro : __ _ 

II. CB.QJOBjo 4 -14. ne3&cm•1~o eci>n.Jcai' 
CB.AJOBjABci&cSri' f<Dm~Qln'IA<mAcS:t, QOG~O 
Gl.f2.JOBjCDm1m,o 2 G<1JlOi6 n.ncmo. (9x2=18) 

4) 63COJ ln.JCJaDJd➔.> ln.JCJ(3006')(ffl) sdlo.flrucboo 
o.n m J :> cro <ffl>1 m" l n.J ru .!l.J mi co, mo co, 6 o 
l d➔.> a m 6TT) co, o co, 6 o cro o Ci ru1 cB6'> 6 cm 
mo A c;m @O 6TT)" aQ a dKl o@ ~, cB6'> ~ 

crod➔.>"cro~<i>. tn.JoLOoSld➔.> O'Ud➔.>"cro~m6 o 
ejlanico, crod➔.>"cro~m6o m>am1ei6~ 
OJJaDJO<TUo omcm" ? 
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Score 

S) Observe the figure and label the 
parts. A, B, C and D. 

6) A nematode infects the roots of 
tobacco plants and causes a great 
reduction in yield. 
a) Name the nematode 
b) Name the strategy developed 

through biotechnology to prevent 
the infection of nematode. 

7) Observe the equation given below. 

N.P.P. = G.P.P. -Respiration 

a) What does N.P.P. and G.P.P. 
stand for 

b) Define secondary 
productivity. 

Score 
S) .!l.16 OJ 6>S cm crrl1 af1cB6)6 rm .!l.11 L®o ml mi 

~41' A, B, C, D C'lij)(Tl') (1(1)6l.J6)~S6cuml 
a2Sl<nlcB6)6rm t10CJ)6UB~ 66>6Tlil~66. 

Hypocotyl 

- - -c 
- - -D 

6) sm6 mlm<BAOcuS16>~ ~l61ll6TTlo 

mlcnl<m>o n.Q,c:&.,<WleJ 6>.!l.lSkDJ66>s ~oamo 
006mJlllO<Wl ~occ,6~. 
a) C8ta> mlm<BAOcuS16>~ <Bcuco 

c:8:,6)6ml Q Cl{j)'i 6RJ)6c:8:, · 
b) mllll<JAOru.Sl6>~ ~l61ll6mo cmscc,ociD 

6> 6> Iii! ru croa !lb~ c:8:, n.n (3 J cnn ei. 6> s 
nJlc:&.,mSl~6>41~cm, aioro~cmi16>1 
Qn.J~ C'lij)mrl'? 

7) .!l.lc!,0J6>S cmmilcole8E)6rm croairuoc:&.,Jo 

ml <d'I~ '8E)6c:8:,· 

N.P.P. = G.P.P. - cniJm,>mo 

a) N.P.P., G.P.P. ~ru Cl{j)CY!))16>m 

Cl'UJ~~cB6)Jrm6 ? 
b) aj~m, ~oem~mcm 

mla>O.J~e8E)6c:8:,· 
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s core S re co 
8) Match the following : 8) a .. ~ .. J<n6on.Jsl a~lo~6c& : 

Breeding techniques Definition 

ln..Jllamm moi<-aRBcJ6 m1c16ru~mo 

Superior males of one breed are mated with 

superior females of another breed 

Inbreeding 
i) 

<06TY3 OJJaf>JOJil ~m61rf3~6)eJ (1)66ffiaairm 
a 

~m>lmfl ru5locrr ce,Jsl<Ill ar@Giro 6)n.J6iro ~m6mcJo anamle.i~ 

ln..Jafl ~ @n..J::>Gmo 

Male and female animals of two 

different species are mated 

b 
Out Crossing 

ii) (061"@ OJJaf>JCTJil q:g'loS1lm5l6)eJ ar@Giro, 6)n..J6fro 
63-U§ <Xlc&.>::>m5locrr 

~n.flce,cJo anamle.i~ tn.J®~@n.JOGmo 

Mating of more closely related individuals 

within the same breed for 4 to 6 generations 

Cross breeding 
63l'nJ mmcmil6'leJ 4 ~@~ 6 n.J6'>(!) @eJ~O 

iii) ~§Ocnfl C'l.J@6'><0 m"OS6C'm'l 6TlJCTW~~ ~ri, C -
a l~O cru' Lm.11 ruSlocn' 

6'lnJ6nt !dln.flc&0ti cinamle.i~ trucin~orl'ruo'3mo 

Mating of animals within the same breed 

but having no common ancestor 

Inter specific hybridisation ~<JO ca>eJ~Oc&@Oavl 6ln..JO~ ~«>nll6«> 

d 1I2~cb 6l(JBmSln.dl6 6l6lnOl6llJ1 iv) go<m> ffllP)ri, 6ln..Jri sllnll6cil, cmaaSI~ 
6)6')(W(lm>o!i® ln..J®~asfo.ioemo 
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Score 

9) The given figure shows a sequence 
of DNA that can be cut down by 
restriction endonuclease. 

Vector DNA -~.....t­JA\XA.X1j_~ 

I 
~ 

Sticky end 

a) Name the sequence. 
b) Write down the name of 

restriction endonuclease, 
which recognises the above 
sequence. 

10) Transgenic animals can produce 
useful Biological products. What 
are transgenic animals and write 
two biological products produced 
by them? 

11) Observe the table given below 
analyse the effect on species A and 
species B and identify the name of 
interaction. 

Species Species 

<X!fln!llcru <X!fln!llcru 
A B 

+ 0 

- 0 

+ + 
- -

Score 

9) OOlcwlc8t!j® mom>ourl16>cM6fti' Q)Jolc:96)0® 

cruouJlcB6>6(TI) DNA <=®6Trll(D)o6TT) as>o6>'9 

as>cml c6lcB6>J (TI)®. 

a) <ll@6T'Ol(DJJ6>S <Jn.J6>C1>'9JCIS>Jc&. 

b) .!l.fl tas>cuml am as>cml c6lcB6>6ffi) DNA 
<J@6Trll cmlc6l41ol(DJJ(TI) 6>0lcwJc8tljcro 

<bOCTUOC/rll(D.)66>s ~Cb Oij)'96®6c&. 

10) lS0(ro(Tl)u6)srlmlc:£bu IIIJ(J)~6)i ~n.JC(DJO 

cril-4J' ln.J<J(D)Osrlm ln.J0Ql0(DJ n.JeJ 6>6>srlOJ 

~~ (TI)~cil, ~6Tf30c:96)0® cruouJlc:96)6 o. 

lSO®CTUU6>srlmlc&" IIl~(J)~cil, Oij)ffi)O~ 

Oij)ITTf ? <Umru ~~oBl<JdlcB6>&(TI) m6Yli" 

6>6>srlClJ ~(TI)~m6>s Cn.J<b Oij)'96®6c&. 

11) ~OJ6>S as>mil~ n.J§lc& O'Sk61~-4f 

<JB°lo!flcruu A , <JB1n!flcru" B ~ru as>am1 

ei6~ 6lllCTWo mm<1M1eiocB6>1 <Umrucwl 
6>eJ n.J<bCJB<bO®(DJCIS>J a>1cmJ(DJJ6>S <:n.Jar 

Oij)'9&CIS>Jc&. 

Name of Interaction 

nJ~<;{Ymoaa»an.Jo 

a 

h 
C 

d 
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Score 
12) Steps involved in the process of 

decomposition are given below. 
Construct a flow chart showing 
correct sequence of decomposition 
choosing the words from the box. 

Detritus, Catabolism, Humification, 
Fragmentation Leaching, Mineralisation 

Detritus 
X 

! 

! 

! 
Mineralisation 

13) Observe the figure of a cloning 

vector. 

I 111111111111111 ffll 11111m11111 

Score 
12) gg, m 6TT) m l n.J l ca, 1 av <Dfl 6) ei ru1 ru1 w 

CleJ§6l!B§06TT> ~OJ6)S anmi'lmlc:86>6<mm. 
a6TlJ:>~1m'6 mlcm i..Q..flanmoav n.J<36l!Bci& 
an1 co 6) 6Tffl> s 6 mm.. Si, ro 6m m l n.J l c9> 1 
CWCWc!6)5 CleJ§6l!Bc1b ~mlav:>av ldblllmm!~ 
icJb6l~56(ffl)1 SC06 (J~ 0 .!l.J:>lt>§" 
mlmam1~6ca,. 

6lCWls1Acru', ca,oea6TlJoiJcruo, nOJmlnrll 
<Jc:86>n!t:!rn>, lnll0006la>a<fJo!:!rn>, eJl..gJlom', 
mlmo6l6leiam>n!t:!rn> 

l 

13) .a.J6ru6ls cm<m1§c!~ em6 a~o6TT>1ocn"' 
6)(1J~OJ6lS .aJllcmo mlm'l~c;&6')6c&,. 

EcoR 1- Cla I Hind 111 

Pvu I - Jr 

a) Identify the cloning vector. 
b) Write down three characteristic 

features of the above cloning 
vector. 

Pvu II 

SME 26 Biology 6/12 

a) <Jif>6Tlilocn 6lOJ<tol~ (Jn.J(D 

Clij}'fc!®Jdb. 

b) ~ca,~rn'o <J.!2.J«><m51~ a~omilocri' 
6)nJ~ol6l<fJ ~cm' crunJlam,n!:lanc0>cJb 
Clij)':9c!®c!ah, 
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Score 

14) Predation is an interaction which 

has great significance in nature. 

Write down two significance of 

predation. 

III. Question 15 - 18. Write any three from 
the following questions. Each 
question carries 3 scores. (JXJ=9) 

15) Use of nuclear energy has very 

serious inherent problems due to the 

production of radioactive waste 

a) Write three harmful effects of 

radioactive waste 

b) Write one measure for safe 

disposal of nuclear waste. 

16) Observe the figure given below. 

QQ 
Zygote 

a) Name the process. 

b) Write the stages involved in this 
process in correct sequential 
order. 

Score 

14) ln.J~ClSSlmllcd& nJi6'>1n ln.JOWOmJ~ 63~ 

n.Jmcmoo~(l2)CIS)j'.D06m fQmcwlslcm>o. (Qmcw1 
s1 cm> (ffl}'l 6) 1 m 61li" cru n.11 a C/l) n9:I CIS)e8, cib 

~':P6®6e8,, 

III. CI.AJOB~o 15 -18. nQ36lanlhl~o ai.ltm~ G.A.10B~ 

ABc,IMi' t<ffl>«>o n{j)'IJRS>J6, eoe1a,ocm1mJo 

3 GICYJr?Oi nllano. (JxJ=9) 

15) mY0 6m ru ~"Oro~ <ffl>'l 6> 1 ~ n.J a (l2) o en o 

a o ru5l a (l2) o mY0 da 1 ru" mo efl m J cm>16> 1 
~OGmUm cibOct>6ffit:DOce,6CT06. 

a) aoru.5la(l2)o CBY0~nl' moellmJ611l3~6>S 

~cm <ZGO~ QJCI0611T300 O{j)'96®6c&.>. 

b) aoru.5Ja(l2)o CBY0~nl' moellmJ~6)S 

cru6m~ CIS)Q):)(12) crllmamoro~mcmSI 

m~ 63ct>6 m1cml Cl(j)'96®6cib. 

16) ®06>':P cmcm1m1c.86)6cm ~l®o m1a,i 

~c.86)6c&.,. 

Suspensor 

a) fJ2"0 ln.Jtc£bl(l2) Cl@®06m? 

b) ~"O ln.JldhJ(l2)(l2)66>s oJloJlw ne.!§6mci6 
lcibmcmSlmT> O{j)':P6cm6ee,· 
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Score 

17) Biofortification is the most practical 

means to improve public health. 

a) Write two aims of 

Biofortification. 

b) Write the name of biofortified 

crop which enriched with 

vitamin A. 

18) Natural aging of a lake by 

nutrient enrichment is called 

eutrophication. 

a) Name the enhanced aging 

process due to human activity. 

b) Write down two consequences 

of eutrophication in water 

bodies. 

SME 26 Biology 8/12 
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a) mm6~Jm66)s iQ56)n.Jsmi m,eio 

msc006cm cmJm1 cmoocm1 cnfl ei6~ 

cw, C lS O nll1 C cOO ~ 6) ~ C n.J m" 

ClijJ96 Cll)6c&.,. 

b) cw,cLsoo.01cc00~6)~ nlleJmocw'l 

~ eJ OCW C/ll 6013 C/Oc006 6lli0db6'°Tn (l)6Tfi" 
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PART-B 
ZOOLOGY 

Maximum : 30 Scores 

Score 
I. Answer all questions from 1-3. Each 

question carries 1 score. (3xt=3) 

1) Name the loose pouch of skin 
which suspended testis outside the 
abdominal cavity. 

2) Crossing of an Fi hybrid into its 
recessive parent is called 

a) Back cross 

b) Test cross 

c) Codominace 

d) Incomplete dominance 

3) Find the odd one out 

a) Zoological park 

b) Botanical garden 

c) National Park 
d) Cryopreservation 

II. Answer any nine questions from 4-14. 

Each question carries 2 scores. 
(9X2=18) 

4) Galapagos Islands play a significant 
role in Evolution. Substantiate the 

statement. 

Time: 1 Hour 
Cool off Time : 10 Minutes 

Score 

I. 1 - 3 nJ6>a>a»~t}i n(j)&ijO <I.AJOBJ61Bci6M>6o 

~CD6'>Gl'l6<U>J6. eoc8C1)0 G..!lJOBJCffl>1cnJo 1 CJC1l?0m 
nlkmo. (3x1=3) 

1) <m7)6TlJ<JCUX>mlm~ c£bOnJ1Ai<DJ66)S ~ocm>ocwl 
ruJ~ 6TT>6> cm> 6>nJ ocml 6'(ffl)6 cruJ~ c86>6 cm 
<m7>m>EimID .!l.J©amo 

2) Fi 6> 6> nD l 6TI.fl cw 6 o <m7> cm16> ~ o1 cru crui ru"' 

Cn.J6>Cll~o cmamlei~ Clc£bOmSl6>~ <lnJC?> ? 

a) 6Yl.lO~ <Elc£bOCTU 

b > 6>sror <Slc£b0CTU 

C) <Sc£bO<SCWOmlmm> 

d) 112cm•ogJIA' cacwoaSlmcru 

3) ~d~ GA6>~§ q6>1 CISS1R>6>fflm 

~clf)Ji6, 

a) cru6<1ruo11s41cec,cd n.Joif>M> 

b) 6>mJO§om1lcec,(dg cnoll>cwci 

C) mOC'\9:16TT)(dg n.JOit>ce6'> 

d) lc£b<1CS2>oln.ncruroarun9:1cm 

II. 4 ~ 14 ~ G.Qm~ nQ36WlllB'AQO 
9 CI.AJOB~~eocn) 

G.DJOBJ<Um1mJo 2 G~! nJl<U>o. (9X2=18) 

4) nJ (616TT)OQ)Q ~ OOOeJ~ 0<8(1)0 S)~c£b00ce6> 

63Cll6 ln.JWOm n.Jab66l'S. m>m<nmdlc86>6c£b. 
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5) Note the relationship between the first 

two words and suggest a suitable word 

for the 4th place. 

a) Female -Tubectomy, male 

b) AIDS - ELISA, Typhoid 

6) Lichens can be considered as industrial 

pollution indicators. Give reason. 

7) Observe the given diagram and answer 

the question. 

[ 

C 

a) Identify the molecule. (1) 

b) Name (1) and (2). (½ + ½) 

8) Mothers milk is considered as very 
essential for a new born baby. 
a) Name the first milk released from 

the mother just after birth. (1) 

b) What is its importance ? (1) 

C 

I llllllll 111111111111111111 1111111111111 

Score 
5) ~ (3 J 6) (m) (l) 6Yl'i6 ru O dM\; c&., iM 6>S 6YlJ m..uo 

m m q;ld1 eJ o <M)1 av a ~ n!j o aavose1~ 

mo eJ om 6)(m) ru oc!6'> c:0:16'n'i6nJl sl c006c&.i. 

a) lcr..,'l - S~6Tllcei'§!Dl, ~(l)6n!jCYO 

b) AIDS - ELISA, 6)6)SCJn.OOccflru! 

6) 6) 6) eJ cM) m6ce, 6) I! (ll en ml 6 (l) 6TT) m>,.a.J 

e0:,m3i!oavl ce,m6cm6cm6. c&0(06TT>o n..Joav6c&.i. 

7) ~las>o ~'3JJ141' ~cm>mo o©~6®6c&. 

(1) 

a) &Q'O as>C"!llOlas>61av cmlml41dlav6ce,. (1) 

b) (1) - (2) n{j)milC"lJ <GmSa2'0i! 

6)'k!Si1,(m)i1,e8:,, ('-/2 + ½) 

8) mrua-iocm (R)1(R)6c66)cioc00' ramamm,66)s nJocef3 
<am® JrrmoanJ~cmmo6TT). 
a) cBJ6gl COJ 6 6) s a1 mm a CR) n5:i o ram am mf1 cef3 

~®n.J0'3]~c66)6Cln CG'©)BJ n.JOefl6'>1 

(gn.J6)Cl)Clm? (1) 

(I) 
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Score 

9) Microbes can be used as source of 

energy. Justify the statement. 

10) Introduction of the African cat fish 

for aquaculture threatens biodiversity 

loss. How? 

11) Analyse the figure, find out the error 

and correct it. 

( 6)0gJl(gc96)crlj<T0) 

Replication 

Protein 
( C3lrLJ::>glm) 

Transcription 
--> mRNA 

12) The diagram given below show a 

segment of DNA. Label the part (a) 

and (b) 

® 

13) Drosophila is an ideal material for 

genetic study. Give 2 reasons. 

Score 

9) m.iJ~ grJ'ln.flc:0)00 63co6 ~ro&~ Qtm.>o®Wtf 
ro® w1 ~ cw <8 cwo u5I c00006 mi. ~ro ru o ~ 
c0,6)(m) cruairomdlc006c:0). 

10) ~ei~<dflc8€>omll aJ©tnrllc8€><m Q)J~W66>s 
~rLJaCW::>(J)o 6>6)2Jiln.J6>6>run.Jlw Jcm5lm6 
@'lcrlj6Tlilmioce,::>o66n'3. ~6Gl36>m ? 

11) .!l.fll®o cw<lll~wouSlc006c:0), 6>®ffi c:0)6T'@J 
n.Jlsl~ cml<OJ ~Jc:0). 

( tS::><m®<XeJ(rlj<TO) 

Translation 
----~ DNA 

12) DNA a2>J6)5 63(!)6 @O(J)mml6)1 ..!l.1lt®Q)06TT) 

~ 6nJ6)S 6)ce,os6cm51<6lc96)6cmcm. (a) mi6o 

T (1+2=2) 

13) n.Jl9&h1-9id ~ml@ce, cwom~m6 ~m6acwo 
!aJIDO(W ~ neJSdbCD06m <BlCWO<Zcruon6leJCW. 
C8TllffiJ<BCIDO!aJl1lOCW Cl)~ &hO<b6TT>m3cJb 

n(i)'iicmic&. 

SME 26 Biology 11/12 



Score 

14) Observe the symbols below. 

a) 0 b) °I° 
l) Identify a and b. (½+½) 

2) What is the use of these 
symbols in gentics (1) 

I II. Anmrer any three from 15-18 questions. 
Each questions carries 3 scores. 

(3x3=9) 

15) Match column I, II, and III 

I 111111111111111111111111111111111111111 

Score 
14) cmo6l'9 c£b06Tn6nn ..a.Jlnm6mclb 

~;~b)°I° 
I ) a cw6o b cw6o cmk6l~dlw6c£b. 

(½+½) 
2) Smi<mc£WIX)~af6 f/2"0 .!>JI~~ 

lnJOWOmJ6lal<m? (1) 

III. 15 £D.laDC8118 OJQ<OCD.llli CI.A.10Bj6mfilcd 
mlcmdo ~6>cm6J1Jo n@'ld<IDddb, eoczcoocmlmdo 
3 Cl<ll?Oi6 rulaDo. (JX3=9) 

Column I Column II Column Ill 
(CldbOiO I) ( Cldb09o II) (CldbOjo Ill) 
Morphine Trichoderma Immunosuppressant 

( cmoil>nrlkm) ( 6)6)l5CcB6)0(U)©Qlll) (~am~c6TnocrutnJcrur@ 

Statin Poppy Sedative 
(~OA1m>) (CnJO~) ( 6)ClUC(U)filnJ) 

Cyclosporin Monascus Cholesterol lowering 
( 6)ffi)C~om5'anJOOkm) ( 6)Q)06TT)0ffi)"cB(j)ffi)J ( 6)ce,ogam5'<:tsocib c£b6oCOJ6nnc!) 

16) Suggest any 3 methods to assist 16) nJCTWJCl!)Cll.l&g!ga ~6mc£bca>~ ~dbca> 
infertile couple to have children. ~6raoruom6~ mJnn6 mo&CfA5mcib 

ml ©C'3cr61 cB6)6c£b. 

17) What do you mean by anthropogenic 17) nJ m16m::>mmmJ rn'& 'ro-@>ClC'TmOCnJOSml cB6)"' 

action on evolution ? Give one mYIDc6i9:l cm O{j) nncm6 6>db06TTs6~ ~a'3 ~o 
example of anthropogenic action. "?~ nffiCTID . 

(1½+1½) nJJcffl>Ql0cB(j)c!c£b, (1 ½+1 ½) 

18) The genetic disorder is caused due 18) <m1)w]c£bmomJl 63CllJ X Clc£b0Ql(JC1U0o 
to the presence of an additional c£b:)6TT)6)~S6~an 63Cll6 a?mlcmdb 

copy of X Chromosome. Cl!)c£b(l)0006Tn. 

a) Name this disorder a) ~ro a1mlcmc&.i cmdbmoo c&.i6TT56 
n..flslcB(i)J c&.,. 

b) Write the Karyotype of this b) ~(1!)16)~ dbOCll1CCW06)6)5~" 
disorder llij)'9&Cl!)6c&.,· 

c) Suggest any one characteristic C) ~'"O a?mlcm.e., Cl!),:£b<b0016)~ 63Cll6 
feature of this disorder. cru J(soru oJl a~~o Clij)'96 Clf>Jc&.i -

(1+1+1) (1+1+1) 
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